VARRIOR 0

r u ¢ 1T 8

Protecting Your Adventure Lifestyle

Warrior Products, Inc.

11100 SW Industrial Way

Tualatin, OR 97062

Phone: (888) 220-6861

Fax: (503) 692-0364
customerservice@warriorproducts.com
www.warriorproducts.com

Kit Contents:
Item
Platform Awning Bracket
%" x 1-1/2" SS BHSCS
%" SAE Flatwasher
%" Regular Hex Nylock Nut

Installation Procedure:

Awning Bracket

P/N 10202 (Set of 2)
P/N 10203 (Set of 3 — Includes additional hardware)

Qty Item Qty
2 5/16” x 3” Bolt NC Zinc G5 4
4 5/16” x 1-3/4” Bolt NC Zinc G5 4
8 5/16” Flatwasher Zinc — SAE 8
4 5/16” Nyloc Nut Zinc 4

The Warrior Products Awning Bracket can be installed in almost any configuration on the
Warrior Products Platform Roof Racks and Bed Racks. We have made specific design

choices to accommodate placement of the bracket on the mounting buckets, corner
plates, or the square crossbars. This versatility allows you to select the best placement
for your vehicle and awning style. Please refer to the set of included images (below) to

(NI

= U-Strap

select your desired configuration and mounting solution. /

The Awning Bracket’s exploded view with hardware (on the right) provides a detailed

reference on how to assemble this product. Granted this is just one of many
configurations, the other configurations do follow suit.

Additional Notes:

The U-Strap (labeled ‘U-Strap’ on image) acts as both the square crossbar connection
and/or spacer for top-mounted bucket installation. The 5/16” x 3” bolts should be used

with the ‘U-Strap’, and the 5/16” x 1-3/4” bolts should be used without the ‘U-Strap’.

THANK YOU FOR PURCHASING WARRIOR PRODUCTS
If you need further assistance installing your product, please contact us by email at techsupport@warriorproducts.com or call us at

(888) 220-6861.


mailto:customerservice@warriorproducts.com
http://www.warriorproducts.com/
mailto:techsupport@warriorproducts.com

